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1. Let flz) = 29: + 1 . Which of the following is the limit definition of f/{2)7

. x4+l
z-mgm
1/2h+1 2.2+1
()h_.uﬁ(ah+2"3-2+2)
254+ 2h-+1 2341
()h_.uh(am+3h+2"3m+2)

-@Hm_ 22+R)+1 2-2+1
R \3(24A)+2 -3.242

{e) Nene of the above:
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2. Which of the following deseribes the behavior of f{z) = — 11 at the point z = 17

(&) The function f has & jump discontinity at z = 1.
() The function f has & continuous extension at z = 1.

{c) The function f has o removable discontinuity at & = 1.

{d) The function f is contiruous on {—og, co).

{(e) None of the above.
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3. Let f(z) = o® + &% + sin(z). Which of the following is f'(z)?

filz) =2z + &° + cos(z)

) i) = 2*/3+ e" — cos(x)

(¢) Flz) =23+ —cos(z) +C
(@) Ff(z) =2z + ¢ +cos(z) +C
(e) None of the sbove.

4. Let f{z)=In

(@) fllz)=
(b) fz)=

sin(z)
2243

2l (

7243 . i g e
(m> ‘Which of the following is f/(z)?

cozsia:) )

2¢ sin(z) — (52 + 3) cos(z)
Q-2

+3) sin{z)

(d) f'(z) = 2zsin{z)In (z‘ o+ 3)

sin(z)

(e} None of the above
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1 whenz=0

flz) = {Ez[ when T % 0,

Which of the following is true?

(a) The function f is not continucus at 2 = 0, becsuse 31:13% Flz) does not exist.
(b) The function f is not continuous at z = 0, because the function f is not defined at £ = 0.
@ The function f is not continuous at = = 0, because {0} # 11_1&’ Fiz).

FO+h)—F(0)

h does not exist.

(d) The function f is not continuous et z = 0, because }3::(1}
-

(e) Norze of the above,

6. Which of the following is the equation of the tangent Lne to f(z) = sec{z) + 2 through the
point {m/4, 2+ +/2)?
@) y= {tan(@))z + 2+ V7).
b y=x+2+v2
(¢} y = sec(z) tan(z)(z — w/4) + 2 + v
®y=\/§(a:—7r/4)+2+\/§

(e} None of the above,
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7. Let f(z} ==z -+z-+1. Find c € (0,2) so that

It

(2) c=0
(b) c=3/4
c=1
(d) e=5/4
(e) None of the above.
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8, What is the maximumn velue of the function f{z) = z* — 3z + 2 on the interval [1/2,4]?

(e} 1
)0
O+
{d} 5/8

(e) None of the above.
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9. Suppose that polonium decays at a rate proportional to the amount present. If a sample of
polonium-210 decays so that there is 50 g left after 140 days and 25 g left after 280 days, how

rmuch polontum did the semple have o begin with?

a) 50{MY™0 ¢ :

@). 00e° 2 kv
%=A¢

{c) 1006210"250 g
() (50/25)eM™ g
{¢) None of the above

k(140 =280)  p (-10)
e

aidiéu.'; 2 = €
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10. Solve P
Ey = 3z

(a) ¥ = 3(62)y? + 3(2%) (g)

=t
BT

@ y=u(¥=+0)

1
=iiC
@y==t
(e) None of the above

- ._:.[--a. &—ﬁl—,_&q - S?u')r"dx = x“"-\-¢

\ \ N

)

L

oy -“lﬂ‘

17 vl oxe D

11. Suppose that
% =z +dpy0) =1

Use Buler’s method to epproximete y(1) with step size 1/2.

(2) 1+3(1/2)

13/2 .
o 1~ﬂ?§(1—) X ﬂ . v |
(@) 1/3+1/2-1. "o \ o+ 3= i—

(e) Nome of the above.
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12. Differentiate y = %,

y' = (2# + 32 ln(z)) z*°
D) ¥ = (@)

(© ¥ =32z
(d) ¥ =23 +In{z))
() None of the above.
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18, Let flz) =t +2°— 3 Which of the following describes f in o smel intervel around = = 17
(8) f is positive, concave up, and increasing.
@ F is negative, concave up, and incressing.
(¢) fis negative, convave down, and decreasing.
{d) f is stationsry. .
(¢} None of the above.
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14, Let flz) = 2°/20+2°/6+ 1. What are the infection points of f7
() z=-1
(b) z=0end = -1
@w =0
(d) The function has 1o inflection points.
(e) None of the above.
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15, Let f{z) = ==+l What is the linearization of f through the point (1,e)?

(a) L{z)= (20— Ntz - 1) +e
(b) Liz) ="' +e
{¢) Limy=z—1-+¢

@L(m)=e€c 2
%) None of the above X __w\
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16. Suppose that the gide lengths of an equilateral triangle are shrinking at a rate of 1 in/s, so
that the figure is elways an equileteral triengle. At the moment when the area of the trisngle

is 400+/3, at what rate ig the ares of the triengle changing? (You may use the fact that an

equilateral triengle of side length s has area a[ii
V3.

(2) 5 2/ s.
V3. .

(v) ——g /s

@-—20\/5 5.
(@) ~4(a00 2 ix?/s.

(¢) None of the above.
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17. Suppose that 2esin(y) = &4, Find e formula for 4 in terms of y and z. . 19, Which of the following is & formuls for the Right Riemann sum of fiz) = sin(z) on the interval

[0, 1] witk » subintervals of equal length? <=

0 Bt
de 2cos(y) Rz \
PR Gx=t) bt 3,
dx 2 cosly) —— - .
{c) % =(n;y)e”—‘2cos(y) ) %—n—'s«m(—z—> x; v OF o <,
dy _ 'ye’”—2sin(y} Al o1 :
Tzz = Trem + 2z cosly) {c) Z;sm (-;—)
(¢) None of the above =t .S"" p\— e q > \

2 (% et 4sm i) = & (qr ) . ZTO

4’ (b: testq) = e )= '16"‘ -2.5n (7\ . o

18, Compute [ o7 + 4Tz + e — 1dz
=3+ w122+ ¢ ~lnlal +C.

20. Compute < arcten{e™)-

(o) 2w+ AT+ + 17 +C () sec*{e")(€) l "
(o) 2z +4T+ € +1/2° 1fe?-= = L €
() _:53/3+47m2/2+e”+1n|xi+c. (o) & ten(e®) h_@)
{e) None of the ghove . sec(e?)

@ —=

{e) None of the above



23, Write down the integral that you would need to compute

21. Compute [ —17zcos{z?)dz.
curve y = &* over the interval [4, 7).

() (—1722/2)(sm(e?) + C
(b) —17 cos(a®) + (1)zsin(z")(22) +C () [ dz
=) sinfe?) + C. 0) (1+e=ds
() 20 4 O () JT T+ ede
{e) None of the above. . jf VIt e=dz
2 \ {¢) None of the above.
b wEX > du* 2dw > Thuzxdie the

3 trapezoids to approximate
= 20z% and y == 20z.

29. Use the trapezoid rule with n=
24. Find the area bounded between the curves f{z)

(8) T = (/20 +1+8+27) Ez)) ;
(&) Ty = (1/2)(0+2+16+54) s QO xg‘ 20%
0

(DT = (UHO+2+ 16+27)
@ =%
(¢} Nome of the above.

() None of the ghove.
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